t‘-qu

As requined by Florida Statute 553.842 and Florida Administrative Cods 98-72, plesss provida the information and approvel numbers on the building
companents listed beiow i they will be ulilized on the construction project for which you are applying for @ building permit. We recommend you contact
your local product supplier should you not know the product approval number for any of the applicable lisled producis. Sistewide approved protucts are
listed online @ www.floridabuliding.om

Category/Subcategory Manutacturer Praduct Description Approval Numnber{s)

1. BOERION DOORS

A SWINGING Plastpro Swinging Doors Exterior FL-16094.1

B. SUDING

C. SECTIONAL/ROLL UP

0. OTHER

1. WINDOWS

A. SINGLE/DOUBLE HUNG M Jﬁgla Hung Vinyl Windows FL-17499

B. HORIZONTAL SLIDER

C. CASEMENT

D. FIXED

£ MULLION

F. SKYUGHTS

G. OTHER

3. PANEL WALL

A SIDING Concrete Masonry Siding FlL-13192

B. SOFFITS

C. STOREFRONTS

D. GLASS BLOCK

E.OTHER

4. ROOFING PRODUCTS

A_ ASPHALT SHINGLES Tamko

{Architectural Shingles FL-18355-R4

B. NON-STRUCT METAL

C. RDOOFING TILES

D. SINGLE PLY ROOF

E. OTHER

5. STRUCT COMPONENTS

A. WOOD CONNECTORS

Wood Connectors / Anchors

8. WOOD ANCHORS

P4

10456.43

C. TRUSS PLATES

A16

114733

D. INSULATION FORMS

STA 24

E UNTELS

10849.6

F. OTHERS

§ABW 447

10849.6

6. NEW EXTERIOR

ENVELOPE PRODUCTS

The products listed below did not demonstrata product approval at plan review. | understand that at the time of inspection of these products, the following
information must be available to the inspecior on the jobsite; 1) copy of the product approval, 2) performance characteristics which the product was tested and
certified to comgly with, 3) copy of the applicable manufacturers installation requirements,

Further, | understand these products may have to he removed if approval cannot be demonstrated during inspection.




RACHents\Plastpro, Inc PERMANENT\A - Florida Product Approvals\FL-16094 N Serles HVHZ Impact\C - Drawings\FL-16094 (2017)\FL-16094.1-4.dwg, FL-16004.1

¥

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

GLAZED FIBERGLASS SINGLE DOOR
w/ or w/out SIDELITE(S)

Inswing / Outswing
"IMPACT"

GENERAL NOTES

This product anchering drawing has been developed and is in compliance with the éth Edifion (2017) Forida Bullding
Code (FBC) struciural requirements including the "High Velocity Huricane Zone" [HVHZ). See the Certification Agency
Cerfificate for sizes, specifications and rofing.

Product anchors shall be as fsted and spaced os shown on details. Anchor embedment to base moterial shall be
beyond wall dressing or stucco.

When used in the "HVHI" this product complies with Section 1426 of the Rorida Building Code and does not require an
impact resistant covering.

When used in areas outside of the "HVHI" requiring wind bome debris profection this product complies with FBC
Sections 1609.1.2 & R301.2.1.2 and does not require an impact resistant covering. This product meets missile level D"
and includes Wind Zone 4 as defined in ASTM E 1994 and FBC Sections 1609.1.2.2 & R301.2.1.2.1.

For 2x stud consiruction, anchoring of these unifs shall be the some as that shown for 2x buck masonry construction.

Site conditions that deviate from the details of his drawing require further engineering anaiysis by a licensed engineer
or registered architect.

Qutswing configurations utilizing the high dam sill (see Section 5/3). meet water infiltration requirements for "HVHL'". All
ofther configurations do not meet the water infiliration requirements for the "HVHI" and must be installed only in
non-habitable areas or ot habitable locations protected by an overhang or canopy such that the angle between the
edge of canopy or overhang to sill is less thon 45 degrees,

TABLE OF CONTENTS

SHEET # DESCRIPTION

Typical elevafions, design pressures & general noles
orizontal cross sections

‘erfical cross secfions

4 Buck anchoring & bill of materials

frame anchoring & glazing defais

< |

w walra

75" MAX. OVERALL
37.5" MAX. OVERALL - 2
FRAME WIDTH FRAME WIDTH aw”\\\ 2
B S B WA
3 ) T
1= L
B Sl
4 4 4 ..mu..m s
Feian
g T . SEEH
(0] Z /1 7, S @R
35 iz o1 % A g 883
52 53 @ X X 0 s gl
) S oll/3™ Ve Rl5Es EG.0
= e 2=z 8.c
W m & o[\2/ 279 N ¢ F 5% Sogg
a = k' T ook
5¢ 2y & 2
— m z
®2 s iy =
& 3o
| p_» et p p £
Lo
oD o0 o E
o =
112.5" MAX. OVERALL £o |y 58
FRAME WIDTH 23 m G
ot n
m w mw g (2 mm
[ 3 - £
| _ -
| A : N
= ) gl
=
2 m iz E )
E5E M 4
m M. m.,0| O./W X & o o m m
m 1] M & 7ol =ls
EE oF S8l 1o
52 §e 83 gl
i 2| =
@ P g m W W
Ble
k k g > = Mm
OB o0 -
3/ A s[e
2k
MAX. DESIGN PRESSURE (PSF) SRS
CONFIGURATION|  FRAME gl
DIMENSION | POSITIVE | NEGATIVE =
» paTe: 12,/10/12
X 37.5"x81.81" | +50.0 -50.0 e o
XO/OX 75.0"x81.81" | +50.0 -50.0 e, B JK
CHK. BY: LFS
" " DRAWING NO.:
oxo 112.5"x81.81" | +50.0 -50.0 e O
SHEET ] OF _5

02012 R.W. BULDING CONBULTANTS o,



fﬂ P-b““
— I-1/4" MIN, | _ " ) | T-1/4" MIN, ;..044 3.
Al JJ 0 — EMS. (TYP) NTERIO INTERIOR _ % RO
e y u.. m .,v NCM
i . : i ¥x BESop
g - % ) “ 2 %3 g 2056 55
) > | - N I ...h....._. W Mcmu
" | bell ‘. . I v QR T L ~ m £ & %
. B na— B2,
ac ’ 4 .... m 4] e z
; . §a
: \\1 \\ "2 8d&E
py - g2
M ; ...___\\ ' { mW
@\f. E__\ \\ - =
. ——— Qv\ EXTERIOR EXTERIOR ; /@ do
» MK w? : i L .
= 88
HORIZONTAL CROSS SECTION / 2>\ HORIZONTAL CROSS SECTION m 2 g2
TR0 Loraton P N2/ Rt o ” pmm 8
g
040 1-1/4" MIN,
. : B ) ]
Bl
E:
A
88 o
g3 8
s g
mm
B
nle
SR
| -[S]
OATE: 12/10/12
SCcALE:  NLT.S.
OWG. B JK

© 2012 R.W. BuLoIND EONSULTANTS NG,

RAClients\Plastpro, Inc PERMANENT\A - Florida Product Approvals\FL-16094 N Series HVHZ ImpacfiC - Drawings\FL-16094 (2017)\FL-16094.1-4.dwa 21



RAQlients\Plastpro, Inc PERMANENT\A - Florida Product Approvals\FL-16094 N Series HVHZ ImpaetiC - Drawings\FL-16094 {20170FL-16094.1-4.dwg, 3.1

NOILD3S SSO¥D TYIILNIA

()
&/

2

:

8 T [PRd :
8 L )
2

2

301

i

lolEIVE]

C 0 T oms
2| ive091-14
ol ron o)
3 g

A8 wa
AWIS
& /01/2Z1 2




RAClients\Plastpro, Inc PERMANENT\A - Florida Product Approvals\FL-16024 N Series HVHZ Impact\C - Drawings\FL-16094 (2017)\FL-16094.1-4.dwg, 4.1

]

8 (1vp)
g R
-— i
) |
OPENING _
_ TYP.HEAD
(ve) - - & JAMBS _
2% BUCK — " !
(T, - _ - _
3E |
~— | o -1 28§ =l - _
e . _
sl = - sl |
BUCK ANCHORING BUCK ANCHORING
X X0/ 0X
BILL OF MATERIALS
ITEM # | DESCRIFTION MATERIAL
A | TXBUCK [5G >= 0.53] WOOD
B | 2XBUCK [5G >= 0.59) WOOD
C | 1/4° MAX. SHIM SPACE -
D |1/4" X 2-3/4" PFH ITW CONCRETE SCREW STEEL
¢ | MASONRY -3,000 PSI MIN. CONCRETE CONFORMING TO ACI pre—
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
G 1/4" X 3-3/4" PFH ITW CONCRETE SCREW STEEL
H | 3/16"x 3-1/4" PFH MW CONCRETE SCREW STEEL
K| #9 X 3/4" PFH WOOD SCREW STEEL
L [#8 X 3’ PFH WOOD SCREW [1-1/2° MIN. EMBEDMENT) STEEL
M #10 X 2-1/2" PFH WOOD SCREW STEEL
1| FINGER JOINTED PINE HEAD & JAMB [5G >= 0.47) WOOD

N
& A
IS s B
= L A= 9
JAMES (TYP.) um" X 12,
" =h =]
4 () 202 £ 05t 42
8" (TYP.) —= Vi, B Ean
[TYP.) \\\\V,. ..... S uwmm
ﬁfl " h.a_v_\'|_ "’\\_\\\ ..... Wﬂ.ﬂmr
. . o
A ey 4 gy 88 %
3P M~ s x %
: W (N S sE:, £8%¢
o _ _ Shee 3.y
L, g | _ » e an 2248
[R— w”
€ ==\ ﬁ _ -1 Y flie s
-
® v _ TR
A — TYP.HEAD ! i =
M & JAMBS _ _
] | L
. - | _ - | of
— 1 1 — mm WW
4 4 o
A - = "
WW | i i = MM =2 |2 KW
HER _ _ & MCL
L o = =1
i _ _ g5 | @
F Al — 2
& _ _ I
Sl
BUCK ANCHORING
Ox0 mm
i
S8 o
CEl
S g
B
wE
83
CONCRETE ANCHOR NOTES: o b
1. Substitution of equal concrete anchors from a different supphier may have different edge el
distonce and cenfer distorice requirsments. NS
2. Concrete ancher locations at the comers may be adjusted fo maintain the min, edge Sl
distance fo mortar joints, Concrete anchor localions noted as "MaX. O.C. (TYP.)" must be i o
adjusted to maintain the min. edge distance to martar joints, addifional concrete anchors 1712
may be required to enswe the “MAX., O.C, (TYP.)" di ion ara not jad, BATE: HN\._D\»N
3. Concrete anchor fable:
SCME: N.T.S.
ANCHOR | ANCHOR ~ MIN. | MIN. CLEARANCETO | MIN. CLEARANCETO DWG, 8Y: JK
TYPE. | SIZE . | EMBEDMENT MASCONRY EDGE .. | ADJACENT ANCHOR . ok g LFS
e . : : : } B -
tapcon®| 14 had r bl FL—16094.1
suier _4 of 5

© 2012 R.W. BUILDING CONBULTANTS ING,



oﬁ: *
| N e
S§ 2 8
| -~ " -
_ oot w.im, 33 e L — B Wm 3 * E% ey
L5 ..|_3_.._ _|G 7 IR e _115._.3_|_ )2 o m....m.mmu
u_,n. . L o~ T L; i ._ - I*u !...u“\\\ T s Wmmw
] - i 4 o \_\ P
by T . J ‘ T Uty » 85°4|
H £ F L £ E g5
E £ E 58 3.0
~ ; = ©
w - w - w = b wg 3 M B m_
8w,
i 2% BUCK W £ 52 W
3 v,
% i &
ik mU FRAME - 1X BUCK — o
, N Wemeo {
_ BUCK. & JAMBS H .
th _ BUCK~, I Q m e
|| - TYP. n |4 2O
AN Ve SiLL 3£ i€ g £ M EES
3| ) : g 7y by 3 ==
{ 71 I _l=d _lI=c _ . _l=c m EM
/ . | I 1 1 I 1 I I m
/ v.__ ol - . . Ty . . ol e B M
Van P SEELATCH & g g
mmm HiNGEe HINGE DEADBOLT 8 &
AlL (TypAIL (TYP) DETAIL  STRIKE JAMB & =
wmlﬁzmmﬁ.. IGE JAME FRAME >ﬂn=oaza Etmlmmdnoll.___%aia s
BACK-TO-BACK JAMB =
4" X 4"BUTT
 HARDWARETABE HINGE / i 1X BUCK mm
e e ST L\ 2X BUCK Rl
Ez%é..z%..ﬂ&ﬂ s .”zn.um B I 8|3
Iz e GLATING SILICONE e B mm mﬁ
cwn  Kwocser  [KNOB: - SIGNATURE SERES {DOW 995) . V@ g
DEADBOLT: SIGNATURE SERIES (780) Dt i - = m
ODL ALUMINUM BACK-BEDDING SILICONE e r
- LITE FRAME |READI-SEAL) HINGE DETAIL 2] m
L ,mhquzom ?ggiaiﬁﬁsggﬁﬁa?an%a;ﬁ%ssg different edge B, 1" OVERALL GLASS THE. DEADBOLT mm
distane, Sistance ond center distance requirements. 1/8" ANNEALED GLASS STRIKE PLATE =
2 Concre Concrete anchor locations ol the comers may be adjusted to malntain the min, edge i A o ) |
distane Cistance lo martar joints. Concrefe anchorlocations nofed as “MAX. O.C. (TYP.J" must be 0.090" PVB INTERLAYER (KURARAY) BACK-TO-BACK JAMB 21
adjuste acliusted to mainfain the min. edge disfance to morter joints, additional concrete anchors Sl
ey be MY be required fo ensure the "MAX, O.C. (TYP.]" dimension are not exceeded. 1/8" ANNEALED GLASS 1X BUCK. n.m.m
3. Canere Concrate anchor table: AR SPACE = WN
- e i 1/8" TEMPERED GLASS 2XBUCK N-IZ]
ANCH | ANCHOR | ANCHOR | - MIN. MIN. CLEARANCETO. | MIN. CLEARANCE TO INT,
rypi| TYPE | SHE m_-__nmurnmzﬂ . MASONRY EDGE | ADJACENT hzntg #8X 1.5 PH SMS ALUMINUM SPACER are: 12,/10/12
i ASON St
™ BACK-BEDDING SILICONE
tarce| TAPCON®| VA e » s (READISEAL) LATCH STRIKE = Jh
[ GLAZING DETAIL
| arcon®| 3 1 ¥ Ty @‘ PLATE - :
WOOD SCREW INSTALLATION NOTES: = .
Fﬁmmww Maintain @ minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of LATCH AND DEADBOIT DETANL EL-TR0R
wone s Wood screws fo prevent the spliffing of wood. SHEET 5 oF 5

© 2072 R.W, BUILDING CONBULTANTS ING.




N iy /
ﬂ/ A.\.\..mm S \\.‘\
N w
N2 e <
) hl Pl 7 -
~ N A
S9! L ez
= 1 Ako. PR T [
= ¥ oot uc
= 1A PR 3
.“ ao m 4~~ G S
R, SES
2 % O O
2, O ™
.Qb bmmm_odpv“///
4 | 3 W 2 T WYY 1
‘Window Options :
For Glass:
Max daylight opening 39-3/8 x 12-1/2"
{up 1o +44.3/-51.5 psf)
l 160" (see notes for other widths) Max daylight opening 16-3/4 x 10-1/4"
D (up to +50.7-57.5 psf)
Optional Standard Lites @F {ate Hinge 1/8" DSB
+ % termediate Hing 1/4" Tempered Glass
@./ (see window options) 716" Insulated Glass
] 716" Tempered Insulated Glass
Top Fixture e Flag For Lsa:
_ - Bracket Max daylight opening 16-3/4 x 10-1/4"
u i -ﬂl-” (upto +44.7/-51.5 psf)
ar _ u B_ 1/4" Lexan with Aluminum Frame
£ ..|..|-||...|I g > ford wm
§2|..
> ' |
door height mm mm. #E
\@ 66"1070" | 4 | 4 | 3
A 76"w080" | 5| 5 | 4
i Track
F Bracket 8-3"t0 89" 5 5 4
_ 9-0"w0106"| 6 | 6 | 5
109"wiz-3"| 7 | 7| 6
i 126"t 14-0" | 8 | &8 7
I__ -I: TI___ h_l__ 14-3" to 159" 9 9 8
__._.r||[ s || iomm s | fmemmrs || sies—
e : === 16-0"w017-6"| 10 [ 10 | 9
This door has been evaluated in accordance with ASTM E 330-02 and ANSI/DASMA 108-02 and 108-05, 179" 10 193" | 11 11 10
Per ASCE 7-10 as referenced by FBC 2010,
Design Pressures (DP) typically meet or exceed the requirements for the following wind speeds. 196"t 200" | 12 12 11
B These wind speeds are for T high doors, taller openings typically withstand higher wind speeds, Strut Attachment Strut Track bracket quantities shown are for
Width Design Pressure Exposure "B" | Exposure "C" |Windows |Center Stiles use with grade 2 ar better spruce-pine-fir
_B.Sn " 1109 (pst) /- 12.1 (psh) 0 (mph) 53 (mph) 0 (SFF) or southem pine jambs,
200" E.ﬁ =133 (psf) 15 (mph) 98 (mph) 0
(1900 | 133 (psh) /- 14.8 (psh) | 121 (mph) 02 (mph) D 9
18-06" [ 14.0 (psf) /- M._ Mm.a wwmham: wwuﬁe D w _— o
00" 114.8 (ps)/- 164 (psf) {128 (mph) _ mph) _ for doors up to 200" high, These d
- [0/ 156 135 Geut) [ 17cgh : Supporting structural elements to bo designed addiri ahuﬁsﬁﬁnﬂéﬁswﬂ_ﬁ&w
6-00" .7 (psf) / - 20.8 (psf) m| 21 by registered professional engineer for lggﬁnsﬂ_:&u_ this
(15200 |19.9 (psf) /- 22.2 (psf) | 147 (mph) .2@; 2 specified wind loads. If door s not Rawing drteg doce und a
14-00" 1214 (psf) /- 23.8 (psf) 52 128 (mph) 7 4 electrically operated, a lock must be installed.
12-00" 1249 (psf) /- 27.7 (psf) 63 (mph) 38 (mph) 6 5 Maximum door height: 200" ——
001712 6e0) /- 303 st 9 (mph) 143 ) : 4 Maximum section height: 21" r - -
10-06" 128.5 (psf) /- 3L.7 ( (mph) | 146 (mph) _ E l T 03-15-2012
0-00" 294 ~333 77 (mph) | 149 (mph) 5 2 i.ff
Al o l&%@ I - FL .M_@@A_ 2R1 5(e/ 12 Model 2240, 2241, 2250, 2251
000" 1332 (psf) /- 37.0 (ps) ) 4 Professional Engineer's seal provided John E. Scates, P.E. 37.4 (psf) / - 41.6 (psf) at 08'-00" through
bE.ITF.uhﬂPruhm.m mc mph) S ) 4 : only for verification of windload 3121 Fairgate Drive 10.9 (psf) /- 12.1 (psf) at 21'-00"
08'-00" | 37.4 (psf) /- 41.6 195 (mph) | 165¢ 4 construction details Carrollton, Texas 75007 i
Pressures must be rediiced by the ratio of widths squared for a door wider tham one shown. g C.H.I. Drawing: FZ3-16-01311
Pressures may be increased by the simple ratio of widths for a door narrower than one shown. Florida P.E. # 51737 page 1 of 2

4 I 3 S 2 I 1




lllll

e

-
-

4

1

Strut (if applicable} not shown for clarity.

(.059) galvanized steel top
fixture, Each fixture attached
with four 1/4" x 3/4" screws.

push nut

(.034) end stile
manufactured by C.H.L

(.109) galvanized steel top
fixture. Each fixture attached
with two 1/4" x 3/4" screws.

push nut

(.034) end stile
manufactured by C.HL

Optional low head room top bracket

2" (max. for .069 thick)
4" (max. for .109 thick)

nominal @ 2" (min.)
10 (min.) ball roller
with nylon or steel tread.

(.102) galvanized steel bottom

red 1/4" x 3/4" screws.
push nut

Aluminum extrusion

bracket manufactured by C.HL
Each bracket attached with four

The vertical wood jamb f: may be sunk to provide a flat mounting surface,
See jamb attachment details for more information about attaching jambs to structure.

2" x 7/16" (nominal) stop molding to be secured with
minimum 8d nail or 2-1/2" long screw on 8" spacing.
Stop molding not required when door is more than 1" wider than opening,

nominal (.0185) galvanized steel minimum

(.034) center stile 2" (min) x .045 (min)
manufactured by C.H.I. galvanized steel track
End Hinge - Intermediate Hinge
galvanized steel fastened (.058) galvanized steel
to section with fastened to section with

four 1/4" x 3/4" screws.

M.

3-1/2" (min.) stem N R

12"

four 1/4" x 3/4" screws.

(.051) 50 ksi galvanized steel
3" strut attached with two 1/4" x 3/4"

screws per stile or hinge plate.
push nut
(.109) galvanized steel bottom bracket ;onal Engi y .
Professi gineer's seal provided
B.B:meE.on_ _uw_.ﬂ.m.m.._ Each bracket attached only for verification of windload
with four red 1/4" x 3/4" screws, constroction desmils

Optional low head room bottom bracket

n&.fwvm‘mnﬂﬂv

Carrollton, Texas 75007

Details on some views may have been omitted for clarity.

(.086) galvanized steel e

flag bracket fastened to
wood jamb with three SR 000 @)
5/16" x 1-5/8" wood lag _._:

SCrews,

Flag bracket attached
to horizontal track
with two 1/4" x 5/8"
track bolts and nuts.

Flag bracket attached 1o —
vertical track with two 1/4"
x 5/8" track bolts and nuts.
Or two 1/4" x 11/32" rivets.

(.102) galvanized steel track
bracket fastened to wood jamb
with one 5/16" x 1-5/8" wood
lag screw per bracket.

g

/

Each track bracket attached with n\
one 1/4" x 5/8" track bolt and nut.
Or two 1/4" x 11/32" rivets.

= —
03-15-2012

Model 2240, 2241, 2250, 2251

(2(12
John E. Scates, P.E.
3121 Fairgate Drive

37.4 (psf) /- 41.6 (psf) at 08-00" through
109 (psf) /- 12.1 (psf) at 21-00"

C.H.I Drawing: FZ3-16-01311
page2of 2

Florida P.E. # 51737

P

2

=

3

| 1




2

REVISIONS
WINDOW i T
WILTH 1 REV DESCRIPTION _ DATE APPROVED
A—-— _ A | REVISED PER 2007 FBC 8/13/08 R.L.
R = =4 B | ADDED ANCHOR CHARTS 01/25/12 | R.L.
_ ¢ | REVISED NAME 10/15/13 | R.L
P K
|*|o / \ la NOTES:
i es | EALRLLY VAT 1) THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TO COMPLY WITH
waoow e | o ope (__mE%a_om REQUIREMENTS OF THE FLORIDA BUILDING CODE.
o Salielil 2) OPENING TO BE DESIGNED TO PROPERLY TRANSFER ALL LOADS TO STRUCTURE. OPENING
* [ DESIGN IS THE RESPONSIBILITY OF THE ARCHITECT OR ENGINEER OF RECORD.
3) CONTRACTOR IS RESPONSIBLE FOR MAINTAINING STRUCTURAL INTEGRITY OF WINDOW OPENING
n \ A AND ALL WOOD FRAMING AROUND WINDOW.
4)  WINDOW FRAME MATERIAL TO BE PVC.
N o RS 5) ALL FASTENERS SHALL BE MADE OF CORROSION RESISTANT MATERIAL.
= = § 6) SHIM AS REQUIRED AT EACH INSTALLATION ANCHOR WITH LOAD BEARING SHIM. SHIM WHERE
[ SPACE OF 1/18" OR GREATER OCCURS., MAXIMUM ALLOWABLE SHIM STACK TO BE 1/4"
A ~—-— —— _‘lo..{b_.ﬁ_.«v. * - ”
: 7) INSTALL UNITS IN SPRUCE PINE FIR OR BETTER USING 6d .120" DIAMETER NAIL OR #8 WOOD
Maximum design pressure capacity chart (psf) SCREWS LOCATE ANCHORS 6" FROM EACH CORNER AND 17" MAX O.C.THEREAFTER.
S Unit width (in) B) APPROVED IMPACT PROTECTIVE SYSTEM IS REQUIREDR ON THIS PRODUCT IN WIND BORNE DEBRIS
17.50 19.50 23.50 27.50 28.50 31.75 35.50 28.50 41.50 43.50 47.50 53.13 REGIONS.
| Pos | Neg | Pos | Neg | Pes | Pos | Neg | Pas | Neg | Pos | Neg | Pos | Nag | Pos | Nog | Pos | Neg | Pos | Neg | Pos | Neg | Pos | Neg | g) CAULK BEHIND WINDOW FLANGE AT HEAD, SILL AND JAMBS.
35.0|825)|350| 52.5|35.0 [ 52.5] 35.0 | 525 35.0 [ 52.5| 350 | 525 35.0 [ 52.5| 35.0 | 525 | a5.0 | 52.5 | 35.0 | 52.5| 350 | 52.5 | 35.0 | 52.5 & 2 5 ¢
35.0 | 52.5 | 35.0 | 52.5 | 35.0 | 52.5 | 360 | 52.5 | 35.0 | 52.5| 35.0 | 52.5 | 35.0| 52.5 | 35,0 | 52.5 | 35.0| 52.5| 35.0 | 525 35.0| 525 | 350 525 10) USE CAULK FOR PERIMETER SEAL AROUND EXTERIOR OF WINDOW Av
35.0 | 625|350 | 525 | 35,0 | 625 | 35.0 | 62.5 | 95.0| 52,5 | 35.0 | 625 35.0 | 52.5 35,0 | 525 | 36.0| 52.5 | 35.0 | 52,5 | 35.0| 5255 | 35.0 | 48.2 11} WHERE WATER RESISTA! TEST REQUIREMENT OF 15% OF DESIGN LOAD APPLIES. POSITIVE
350525 350 | 525 | 350 | 526 | 350 | 525 350 52.5 | 35,0 525 | 35.0 | 52.5 | 35,0 | 52.5 | 35.0| 625 | 35.0| 52.5 | 350 | 523 | 350 | 452 ) om%aw _umem mem W?umwmo .._._n. um%%m_..no_ ‘_m ﬁm WATER rﬂmmoﬂ memmcmm oF w_mmm_nmw SIvE
350 | €25 35.0| 62,5 | 35.0 | 52.5| 350 | 52.5| 350 52.5| 35.0| 525 | 35.0| 52.6| 360 | 525 | 36.0| 525 | 35,0 525 | 350 496 | 50 | 427 ACHIEVED IN TEST
350525350 525|350 525]350 ] 525] 35.0] 525] 35.0 | 525 35.0] 525 25.0 .5|350 525|350 525|350 474 | 35.0[ 406 i -
35.0 | 52.5| 950 52.5| 35.0 | 525 35.0 | 52.5| 95.0 | 52.5| 35.0 | 525 95.0 | 52.5| 35.0 | 525 35.0 | 525 35.0| 51.0| 350 455 350 388 | 12) IF EXACT WINDOW SIZE IS NOT LISTED USE NEXT LARGER SIZE FOR THE APPROPRIATE DESIGN
35.0] 52.6 | 36,0 525 | 35.0 | 52.5 | 35.0 | 52.5 | 35,0 | 52.5 | 35.0 | 525 | 35.0 | 52.5 | 95.0 | 525 | 35.0 | 52.3 | 350 | 46.2 | 35.0] 41.7 | 35.0] 350 PRESSURE.
13) UNITS MUST BE GLAZED IN ACCORDANCE WITH ASTM E1300-04 AND MAY VARY DEPENDING
Number of anchors required. Units anchored using 6d nails. UPON SIZE,
P Unit width (in)
Height 17.50 19.50 23.50 27.50 29.50 .75 35,50 39.50 41.50 43.50 47.50 53.13
in) |H&SUJamblH & SJamb|H & hw & 5 -_.Fu-..m mb|H & SUamb|H & mblH & Slamb|H & Samb|H & SUamb|H & SUamb|H & SUamb|
750 | 2 | 2 2 | 2 | 2|2 |3]2z]|3]2]3| 2|3 |a3]l3[a3l3|3]a]3la]3]
35.50 2 £l 2 3 F E] 3 3 3 3 3 3 3 3 3 3 ] 4 4 4 4
4350 | 2 | 3 2 | 3] 213131313313 8314134134 4151415
47.50 2 4 2 4 2 4 3 4 3 4 3 4 3 & 3 4 3 [ 3 [] 4 5 4 5
5150 | 2 | 4 | 2 | 4 | 2 | 4 2 | a 3| 4 3| 4 | 3 ] 3] 6] 3] 6 3 16| 4] 6545
5550 | 2 | &4 | 2 | & | 2 | 4|2 | 4| 3|43 [5]315[3185]3 | 513]6] 2135133
58.75 2 4 2 4 2 4 2 5 3 5 3 5 3 5 3 6 3 [ 3 [ 4 & 4 5
TR-] 2 |8 |20 5| 2| 82| 6]l 543 | 8i8[?lalTlolrlalt 4l Bl A8
I s 1
Number of anchors required. Units anchored with #8 wood screw. SIGNED: 10/18/2013
100 ik ) Ml WINDOWS AND DOORS LLC
Height |  17.50 19.50 23.50 27.50 29.50 31.75 35.50 39.50 41,50 43.50 47.50 53.13 1001 W. CROSEY RD
(n) |H&sUamblH &S Jamb|H & SPamb|H & Samb|H & SUamblH & SPamblH & SUamb|H & SUamb|H & SUamb|H & SLamblH & slamb|H & sLamb n_pwxo_._h..oz q,.x qwamm
27.50 = 2 2 2 2 2 2 2 3 2 3 2 3 2 3 2 3 2 3 2 4 2 4 2 .
ssso |2 |3 f2f3f2]sJa]alalalalals[asls|alals|s|a|4]a|a]s SERIES GA 7050 RECTANGULAR PVC SH
4380 | 2 | 3| 2|32 |3]z2]3flafJalslalalalslalaslslalale]la|[a]s TILT WINDOW - 53 1/8 X 72
4750 | 2 | 4 | 2 | 4 | 2 | 4 ]2 ]| 4|3aflsa]3]a]a]ajala]lalalalalal]s]al]s INSTALLATION DETAILS AND DESIGN PRESURE CHART
5150 | 2 | 4 2] & 2 al21 4 ERIEN E 4| 3| 4 3] 4 3| 4 3 4 | 4 [ 4] 4 4
s580 | 2 lala2]lal2alal 21434 ]|3]|ala|s]|3]alz|alalalaslalala DRAWN: NG N e
5975 | 2 | 4 | 2 | a | 2 | 4 | 2] 4| 3] 4a]3a]|a]|3]|als]|asl3]|s] 24 ala]ala R.L. 08-00248 C
72.00 2 5 2 5 2 5 2 5 a3 5 3 5 3 5 3 5 IIU 5 3 5 4 5 4 s SCALE NTS —D&mm W\QW\DH —m-_nmn._ OF 2




REVISIONS
REV DESCRIPTION DATE APPROVED
CAULK BETWEEN FIN A | Revisep PEr 2007 FBC 8/13/08 |RL
SHEATHING & SHEATING : .
Foagpiates \ B | ADDED ANCHOR CHARTS 01/25/12 |RL
g 1 1/2" MiN. C | REVISED NAME 101513 | AL
INSTALLATION EMBEDMENT
ANCHOR
c _ 2 % WooD —SHIM AS REQ'D. {SEE NOTES)
| BY OTHERS \
2 X WooD ﬁl‘l WRDON AT 2 ¥ wooD
BY OTHERS 8Y OTHERS
PERIMETER ;
CAULK BY OTHER \
* \/ SHIM AS REQ'D > +
11/2° Ml / P HEER 1 1/2
N / | MiIN.
FIN TYRE SHIM AS REQ'D EMBEDMENT W =2 EMBEDMENT
WINDOW FRAME {SEE NOTES) I la I -
HEADER VEEE * | Jis :__ TE —— *
i | AN : /
[ SHEATHING
. \ T ++ BY OTHERS
1 e =
! CAULK mm-zmmzl\ /I INSTALLATION
WINDOW FIN & d
EXTERIOR SHEATHING \\ EXTERIOR ANCHOR
PERIMETER CAULK
FIN TYPE i
! WINDOW FRAME JAMB : = BY OTHER
WINDOW SECTION B—B
GHT
FIN TYPE
WINGOW FRAME.
SILL
~SILL STOGL Horizontaol " Vertical
B WIS Window | Window Window | Window
Horizontal |  Horizontal Vertical Vertical
Call Size iFD Call Size iFD
1-6 17 112 2-4 27 12
1-8 19 1/2 3-0 35 112
PERIMETER O_Erxs\\ q —— SHIM AS REQ'D 2-0 23 112 3-8 43 12
BY OTHER /N (SEE NOTES) 24 27 12 4-0 47 12
2-6 29 1/2 4-4 51 1/2
| CAULK  BETWEEN
N NG WINDOW FIN & 28 | 3134 48 | 55112 Ml WINDOWS AND DOORS LLC
ANCHOR SHEATING 3-0 35 1/2 5-0 59 3/4 1001 W. CROSBY RD.
CARROLLTON, TX 75006
b s i 34 39 1/2 SPCL 72
SHEATHING EMBEDMENT 3-6 41 1/2 SERIES GA 7050 RECTANGULAR PVC SH
BY OTHER 3.8 43 112 TILT WINDOW - 53 1/8 X 72
=0 PR INSTALLATION DETAILS AND DESIGN PRESURE CHART
SECTION A—A SPCL | 53 18 o e NG, A
R.L. 08-00248 c
SCME NTS  |BNE 9/09/07  |ST2 OF 2




Application Instructions for FORMERLY HERITAGE®

HERITAGE"

LAMINATED ASPHALT SHINGLES

Tuscaloosa, AL

IMPORTANT FASTENING lﬂFQRM&'[IQN: DO NOT PLACE FASTENERS ON OR ABOVE THE PAINT LINE ON THE SHINGLE. The paint
line on the shingle is the upper-most edge of TAMKO'’s expanded Nail Zone, For complete details regarding TAMKO’s expanded Naijj
Zone, see section 3 of these Application Instructions, Failure to follow fastening instrucﬁons, including but not limited to improper

L. ROOF DECK area per 300 square feet if at least 40% and not more than 509

These shingles are for application to roof decks consisting of
plywood or sheathing boards Gapable of receiving and retaining
fasteners, and to inclines of not less than 2 jn, per foot. For roofs
having pitches » in. per foot to less than 4 in, per foot, refer to
special instructions titled “Low Slope Application”. For roofs having

pitches greater than 21in. per foot, refer to Special instructions titled
“Mansard Roof or Steep Slope Roof”, Shingles must be applied P v
Properly. TAMKO assumes no responsibility for leaks or defects ITis pA T&QUA;&'EEE&N]Q& PROVI

resulting from Improper application, or failure to Properly prepare

the surface to be roofed over. 3. FASTENERS

: Roof deck must be Smooth, TION: Extreme wing velocities can damage these
dry and free from wamped surfaces. |t js recommended that metal shingles after application when Proper sealing of the shingles does
drip edges be installed at eaves and rakes. not occur. This can especially be a problem if the shingles are

PLYWOOQ: All plywood shall be exterigr grade as defined by applied in cooler months or in areas on the roof that do not receive
APA - The Engineered Wood Association. Plywood shall be g direct sunlight. These conditions may impede the sealing of the
i 3/

minimum of 3/8 in, thickness and applied in accordance with the adhesive strips on the shingles. The inability to seal down may be

recommendations of APA - The Engineered Wood Association, Compounded by prolonged cold Weather conditiong and/or blowing
t.Int ituations, ling of the shingl d. Tc

SHEAT BO : Boards shall be well-seasoned tongue- dust. In these sitya lons, hand sea Ing of the shingles is required. To

and-groove boards and not over 6 in, nominal width, Boards shal| Prami b T Tam-Seal : f
bea1in nominal minimum thickness. Boards shajl be properly b s O TAMKO Tam Seal Adhesive ontheback o

Spaced and nailed,

the adhesive. For maximum wind r'esistance along rakes Install any
2. mﬂ“. TAMKO starter shingle Including sealant or cement shingles to the
Inadequate ventilation of attic Spaces can cause accumulation of underlayment and each otherina 4 i, (102mm) width of TAM-PRO
moisture in winter months and a builg up of heat in the summer, SBS Adhesive or TAMKO Tam-Sea| Adhesive. Caution: Apply ONLY 2
These conditions can lead to: thin uniform layer of adhesjve less than 1/8 in, (3mm) thick, Excessive

1. Vapor Condensation
2. Buckling of shingles due to deck movement. dripping and staining, Shingles must also be fastened according to
3. Rotting of wood members,

4. Premature failure of roof, Correct placement of the fasteners is critical to the performance of
the shingle, If the fasteners are not Placed as shown in the diagram
To insure adequate ventilation and circulation of air, the ventilation and described below, this will result in the termination of TAMKO's
system must include inlets ang outlets. This may be accomplished liabilities under the Limiteq Warranty. TAMKO will not be responsible
with a combination of ridge and soffit vents or by using gable end for damage to shingles caused by winds in excess of the applicable
vents. FHA minimum Property standards require one Square foot Mph as stated in the Limiteg Warranty. See Limiteq Warranty on the
of net free ventilation area to each 150 square feet of space to Wrapper or tamko.com for details.
be vented., This may be reduced to one SQuare foot of ventilation 2
(Continued)
Central Distrigt 800-641-4691 05/14

800-368-2055
800-228-2656
800-443-1834
800-530-8868

- Northeast District
Vi t
Isit Our Web Site a Southeast District

tamko.com Southwest District
Western District 0216
; ﬁ‘*'e‘%f‘@_?u‘?xﬁ%%_ﬁ% PR ; S I




